(x-3)(x=>)
X-320 X-5=2
X=% X=3

Consider the functions r{x) and s(x), where
r(x) =(x— 3 ands(x) = (x+3)*

What is the degree of r(x)? s{x)?

¢ {x) 50x)
D‘bnbf_l Dc;fzc = D\

What are the zeros of rfx)? s{x)?

r(x) 5(x)
Tires ¢ troS

X=3 X==3
Consider the function t(x) = (x — 3)(x + 4)*

a. Expand the expression that defines t{x). Identify the degree of the
resulting polynomial.

09~ (X-2)(x*+sx ¥10)

X7 ¥ ax?Hox
~3x= —-24% ~ 48

3 k.
Y +Sx —8x-41%
b. What are the zeros t{x)?

Y=,
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mu..lt:Fl:c..‘é?« OGIJ

Cross X-axiy

Mulﬁ.plnfﬁy cven

Opes not croas
Y-a s

tougk Go‘&! b‘-"\

State the degree and list the zeros of the polynomial
function. State the multiplicity of each zero and whether
the graph crosses the x-axis at the corresponding x-
intercept. Graph the function on your calculator to verify

your answer.

a) f(x) =x(x +2)*
Degrze = >
rm..lt
| ross

2ered
X =0

£ ouch
)(‘_l 2 owl

c) f(x) =x(x - 4)
Dc-yrwt- = "‘i
melt
X Cress

Trres
X =2

X=Y t Cross

Find the polynomial function with feadifig coefficient I that |
has the given degree and zeros.

b) f(x) = (x + 3)*(x — 1)

D%'r'ﬂ-l- = S.-
2tros mul&
== 3

Y= | :l

d) f(x) = 3x(x-2)*(x-1)?

Degree =6
Zeros malt
xX<=0

Y=L >
Yz 2

T Gbﬂf"

A) Degree 3,with 2, -1, and 4 as zeros

Teres Y= XY="|

X=Y

f;::-:z; (x->) (x+) (X—"D
(x-2) (= 3%-4)

DAy -Y
-5% %
” --:?.x" tox

+¢
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cross
Louch

Cross
Crosb
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Tﬁ{?f‘ Cn

B) Degree 3 with 5, 1/3, and 2/3 as zeros
_ L x-%
X= § X= X N

Write a polynomial function of minimum degree in
factored form with real coefficients whose zeros and their
multiplicities include those listed. Then sketch a graph and
discuss what you notice.

a) 3 (multiplicity 2), - 4 (multiplicity 3)

b) 3 (multiplicity 3), - 4 (multiplicity 1)

1 (multiplicity 2), -2 (multiplicity 3)
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